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Clear
PRINT “(xi,y:) =(0, 0)”
PRITN “(xs, y2) =(1, 0)7
INPUT PROMPT “(xs, y3)" : Xs, ¥s
LET x= max(xs, 1)
LET X;= min (xs, 0)
LET y= max (ys, 0)
LET Y,= min (ys, 0)
INPUT PROMPT “k=" : k
SET WINDOW xi, X, ¥1, Y-
PLOT 0, 0; 1, 0; xs, y5; 0, 0
LET W=ysx2x3(—.5)
LET Z= (x—.5) xX2x3(—.5)
FOR I= 1 TO 2
LET K= 1-k
FOR Ya= g£+0.002 TO y STEP .002
LET Xa=-3(—.5) *ya*W—3(.5) *k/ (yax8xW)
+1—ya*z
PLOT xa, ya
LET xa= 3(—.5) *xya*W+3(.5) *k/ (ya*x8*W) —
z*Ya
PLOT X.,Ys
NEXT Ya
FOR X.=X £+.002 TO x STEP .002
LET a= W' 2—3*2"2
LET b= 3*z—6%zxxa—3.5%W
LET c= 3% X« —3% x 2—3%k/ 4
IF b'2—4*axc>=0 Then
LET Ya=-b(b'2 —4*xaxc)"5) / (2*a)
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PLOT X.,¥.
LET Ya=(-b(b'2—4*xa*c).5)/ (2%a)
PLOT xa, ya
ELSE
END IF
NEXT Xa
NEXT I
END
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